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Objects in the solar system are so large that it is very difficult to imagine how they compare to each other.  Not only are they very large, they are e…..x…..t…..r….e….m…..e…..l…..y far away from each other.    

To help you visualise this, you are going to make a scale model of distances in the solar system, using a fully extended toilet roll to represent the distance from the Sun out to Pluto.  As you are working on your model, think about what there is ‘beyond the toilet roll.’  

All the data you need is given in the table below.  You will need to use different scales for distance from the sun and diameter at equator.

You can use any object you want to represent a planet.  Measuring tapes will be available for your use.

	
	Distance from sun (millions of km)
	

	Sun
	0
	

	Mercury
	57.9
	

	Venus
	108.2
	

	Earth
	149.6
	

	Mars
	227.9
	

	Jupiter
	778
	

	Saturn
	1 427
	

	Uranus
	2 870
	

	Neptune
	4 497
	

	Pluto
	5 900
	


Example calculation
I have decided to do my scale model relative to Mercury.  

Diameter of Mercury = 4 879 km.

I will use a 1cm diameter marble to represent Mercury. 

Therefore, every 4 879km = 1cm on my scale.

What size of ball is needed for Venus?

Diameter of Venus = 12 104 km

Every 4 879 km = 1cm so I divide the diameter of Venus by 4 879 km

12 104 / 4 879 = 2.48

I need a ball with diameter 2.48cm to represent Venus. 
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These materials have been written by Lynda Dunlop as part of a Gatsby Teacher Fellowship, made possible by funding from Gatsby Technical Education Projects (GTEP).  Responsibility for the materials lies with the author, and GTEP cannot accept any liability for the content of these materials or any consequences arising from their use.

